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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Figures on right side indicate the marks.

1  The production capacity of Rahul Ltd. is 15,000 units at 20

100% activity. The particulars of Production and Sales in

the year 2016 are as follows :
Sales (selling price per unit Rs. 150) ................. 11,25,000
Rate of profit on cost price...........cccoooeeeiiiiiiieeeiiiiienen, 25%

Factory overheads expenses :

Faxed 48%
Variable ... 32%
Semi-variable (6.25% of prime cost)..........cccooeeeiiiinnnnn... 20%

Office overheads expenses

(80% fixed) ....oovvviiiiiii 20% of total cost
Selling overheads expenses

(60% variable)........c.ccooeeiiiiiiiieeen 10% of total cost
The proportion of materials and wages cost is 3 : 1

Labour rate per hour is Rs. 4 where raw-material cost is
Rs. 8 per kg. Factory semivariable cost is increased by 50%
up to the 80% production level and thereafter it is increased
by 100%. Per unit selling price will remain uniform rate

up to 12,000 units and thereafter it is decreased by 5%.
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Prepare following budgets at 9,000 units, 12,000 units

and 15,000 units

(1) Material budget (in kilograms and Rupees)
(2) Labour expense budget
(3) Factory overhead budget
(4) Office overhead budget
(5) Selling overhead budget
OR
1 Dravid company is to be incorporated from January 1, 20

2018. Its authorized capital will be Rs. 20 lakh divided into

2 lakh equity share's of Rs. 10 each. It intends to raise

capital by issuing equity shares of Rs. 10 lakh (Fully paid)

on 18t January. Besides, a loan of Rs. 1,30,000 @ 12% per

annum will be obtained from financial institution on 15t

January and further borrowing will be made at the same

rate of interest on first day of month. All borrowing will

be repaid along with interest on the expiry of one year. The

company will make payment for the following assets in

January :
Plant and machinery ............................... 2,00,000
Land and building..............ccccooooiiei . 4,00,000
Furniture ..., 1,00,000
Motors vehicles ......cooovvvveeviiiiieiiieiennn. 1,00,000
Stock of raw materials............................ 1,00,000
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Following further detail are available :

(1) Projected sales (January - June)
Months | January | February | March April May June
Rs. {3,00,000 | 3,50,000 | 3,50,000 | 4,00,000 | 4,00,000 | 4,50,000

(2) Gross profit margin will be 25% on sales.

(3) The company will made credit sales only and these will
be collected in the second month of following sales.

(4) Creditors will be paid in the first month following credit
purchases. There will be credit purchases only.

(5) The company will keep minimum stock of raw- materials
of Rs. 1,00,000.

(6) Depreciation will be charged 10% per annum. on cost
of fixed assets.

(7) Payment of preliminary expenses of Rs. 10,000 will be
paid in January.

(8) Wages and salaries will be Rs. 20,000 each month and
will be paid on the first day of the next month.

(9) Administrative expenses of Rs. 10,000 per month will

be paid in the month of their incurrence.

Assume no minimum required cash balance.

You are required to prepare the monthly cash budget

(January - June), the projected income statement for the 6

month period and the projected balance sheet as on 30th

June, 2018.
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2 PM Ltd manufactures products A, B and C and seeks 20

your advice regarding production mix. You have to prepare

statement relating to maximum profitable sale mix which

shows:

(A) Expected profit from current budgeted production mix.

(B) Profit expected from maximum profitable production

mix.

Particular A (Rs.) |B (Rs.)| C (Rs.)
Direct Material per unit 40 30 20
Direct labour per unit:
Dept. - 1 (Rate per hour Rs. 1) 6 10 5
Dept. - 2 (Rate per hour Rs. 2) 12 30 22
Variable overhead per unit 2 5 3
Budgeted production during
current year (In units) 5,000 6,000| 10,000
Maximum sale estimate
during 2017 (In units) 6,000 8,000 12,000
Selling price per unit (Rs.) 78 100 60

Fixed overhead during the year is Rs. 2, 00,000.

Labour supply of dept. 1 is limiting factor and no addition

or increase is possible in present supply.

OR
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2

SM Ltd. Manufacturing an items for which following

particulars are available for the year 2017 :

Particular Rs.
Material .......ooooiivviiii 15,00,000
Direct Labour.........cccooooviiiiiiiiiiiiii. 6,00,000
Variable Overheads ..............ccco.oooeeeiinnnl. 3,00,000
Fixed Overheads ......cccovvvviveeviiiniiiiinnn. 12,00,000

Sales at 60% of its production capacity Rs .48,00,000

Company has received an export order for the quantity
which is 70% of the production capacity. The order is to
be accepted in full or to be rejected entirely. The price which

is 20% less than the current selling price in domestic

market.

Following three alternatives are available to management :

(1) To reject the export order and to continue the domestic

sale as per present condition.

OR

(2) To accept the export order. Divide the capacity into two

parts. For export market and for domestic market and

to give up excess domestic demand.

OR

(3) To Increase the production capacity and to accept the

export order and to continue sell in domestic market.

For this

(a) By installing additional machinery so as to increase

production capacity by 20%. For this depreciation will

be increased by Rs. 3,00,000

20
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(b) To meet the remaining required capacity, workers will
do overtime work and will be paid at the rate twice

that of normal rate.

Prepare the comparative statement showing profit of all the

three alternatives and suggest the best option.

3  Division XL is profit center, which produces four 15

products - A, B, C and D, each product is sold in the external

market. Data for the period are as follows :

Particulars A B C D
Market price per unit (Rs.) 1,500 1,460 | 1,400 1,300
Variable cost per unit (Rs.) 1,300 1,000 900 850
Required labour hour per unit 15 20 10 15

Product D can be transferred to division XXL, but the
maximum quantity that might be required for transfer is

10,000 units.

The maximum sales in external market are as follow :

Product

A| B| C| D

Sales (Units) 11,200 ‘ 10,000 ‘ 9,200 | 6,400

Division XXL can be purchase the same product from outside

at a slightly cheaper price of Rs. 1,250 per unit.
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In following situations decide per unit transfer price of

10,000 units of D :
(A) 4,00,000 Hours

(B) 6,00,000 Hours

OR
3 ML Ltd. produce and sales two product namely 0 15
and K Information of sales supply and selling prices
are as follow :
Product 0] K
Per units selling price (Rs.) 32 30 28 22 20 18
Expected monthly
sale (Units) 1,800 | 2,000 3,000 | 3,200 | 4,000| 6,000
For producing O-product 8 hours per Unit and for
K- product 4 hours per unit are required. The monthly
supply of 40,000 labour hours is controlled. Per units
cost are as follow :
Particular O (Rs.) K (Rs.)
Direct material 4 3
Direct Labour 6 5
Variable expenses 10 6
Total 20 14
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The weekly fixed expenses is Rs. 64,800.

Calculate possible sales mix and among that decide maximum

profitable selling price mix.

After deciding profitable selling price mix, if slack producing
energy available than it is use in units of O and K with

ratios of 3 : 1 for fulfilling the extra demand.

4  Write short notes : (Any Three) 15
(1) Impact of value engineering on profit

(2) Characteristics of introductory and growth stages of

product life cycle
(3) Classification of quality costing
(4) Importance of value analysis

(5) Quality costing report.
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